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0LKR�-��7DQDND��0'��0$�LV�WKH�IRXQGLQJ�'LUHFWRU�RI�WKH�:RPHQ¶V�6SRUWV�
0HGLFLQH�3URJUDP�DW�WKH�0DVVDFKXVHWWV�*HQHUDO�+RVSLWDO�DQG�D�PHPEHU�RI�WKH�
IDFXOW\�RI�RUWKRSHGLF�VXUJHU\�DW�+DUYDUG�0HGLFDO�6FKRRO��� 
 
'U��7DQDND¶V�SULPDU\�UHVHDUFK�IRFXV�LV�RQ�WKH�ELRPHFKDQLFV��LPDJLQJ�DQG�
DQDWRP\�RI�WKH�SDWHOORIHPRUDO�MRLQW�DV�LW�UHODWHV�WR�SDWHOODU�LQVWDELOLW\��6KH�DQG�
KHU�FRDXWKRUV�ZHUH�DZDUGHG�WKH�3DWHOORIHPRUDO�6XUJLFDO�$QDWRP\�([FHOOHQFH�
$ZDUG�E\�WKH�3DWHOORIHPRUDO�)RXQGDWLRQ�DQG�$UWKURVFRS\�$VVRFLDWLRQ�RI�
1RUWK�$PHULFD�LQ������DQG�LQ�������DQG�VKH�KDV�EHHQ�WKH�3ULQFLSDO�
,QYHVWLJDWRU�RI�JUDQW�DZDUGV�LQ�WKLV�OLQH�RI�UHVHDUFK�IURP�WKH�$UWKURVFRS\�
$VVRFLDWLRQ�RI�1RUWK�$PHULFD�LQ�������������������DQG������ 
 
6KH�KDV�VHUYHG�DV�D�WHDP�SK\VLFLDQ�IRU�PXOWLSOH�SURIHVVLRQDO��VHPL-SURIHVVLRQDO�
DQG�FROOHJLDWH�VSRUWV�WHDPV��DQG�KDV�VSHFLILF�LQWHUHVW�LQ�SURPRWLQJ�DZDUHQHVV�
DQG�HGXFDWLRQ�IRU�LQMXU\�SUHYHQWLRQ�DPRQJ�IHPDOH�DWKOHWHV��6KH�ZDV�DZDUGHG�
WKH�&RPPXQLW\�3DUWQHUVKLS�*UDQW�E\�WKH�(LOHHQ�)LVKHU�)RXQGDWLRQ�LQ� 
����-�����DQG�E\�:DOPDUW��,QF�LQ�����-�����IRU�KHU�ZRUN�LQ�RUJDQL]LQJ�
HGXFDWLRQDO�SURJUDPV�IRU�LQMXU\�SUHYHQWLRQ�LQ�ORFDO�JLUOV¶�VFKRROV��DQG�KDV�
VHUYHG�DV�D�SK\VLFLDQ�PHPEHU�RQ�WKH�DGYLVRU\�ERDUG�IRU�8QGHU�$UPRXU¶V�
&RQQHFWHG�)LWQHVV�3URJUDPV� 
 
'U��7DQDND�FXUUHQWO\�VHUYHV�DV�&KDLU�RI�0XOWLPHGLD�IRU�$$26�DQG�LV�RQ�WKH�
UHVHDUFK�DQG�HGXFDWLRQ�FRPPLWWHHV�RI�$2660�DQG�$$1$��6KH�DGGLWLRQDOO\�
VHUYHV�RQ�WKH�(OHFWURQLF�0HGLD�(GLWRULDO�%RDUG�RI�WKH�$PHULFDQ�-RXUQDO�RI�
6SRUWV�0HGLFLQH��WKH�$UWKURVFRS\�-RXUQDO�(GLWRULDO�%RDUG��RQ�WKH�$VVRFLDWH�
&0(�(GLWRU�3DQHO�IRU�WKH�-RXUQDO�RI�%RQH�DQG�-RLQW�6XUJHU\��DQG�DV�IRXQGHU�
DQG�(GLWRU-LQ-&KLHI�RI�WKH�QHZ�-RXUQDO�RI�:RPHQ¶V�6SRUWV�0HGLFLQH�� 
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